HAHE :2022.4.20 13:39

4 AFE =k&

BEEAE A B 12022404 420 H (OK)

o R 0.5 RN HEM18.0 18,0 LA —/s: OUT1 3 4 5 6 9
IN10 12 13 15 17 18
B A YT AaAT v b oiX— 3
il =—=2  :0UT IN ZINNE HEMSIAN e AN AEFSTA
NEN PE ST v ko
EGL | N K4 OUT IN |GROSS| HDCP | NET | crosshf: % BT | BInFE K4 OUT IN | GROSS| HDCP | NET |crosshsif: e

L[/Fk Yk 42 42 7.2 134.8 51|81 F+1 47 47 8.4 |38.6
2B lR & 42 421 7.2 |34.8 52|63 FHHE 40 40| 1.2 |38.8
IUNERE: IS 47 47/ 12.0 | 35.0 B3|EE IER 52 52/ 13.2 |38.8
4|%0E 5B 46 46/ 10.8 |35.2 sl E = 52 52| 13.2 | 38.8
5[ Fnfs 39 39| 3.6 |35.4 55| AFT BT 46 46| 7.2 |38.8
6 iR & 38 38| 2.4 |35.6 56| P& 52 52/ 13.2 |38.8
UESCIRFS 43 43| 7.2 135.8 57| FHA 1ER 51 51112.0 [39.0
8| AT SREE 42 42 6.0 |36.0 58 /MK EAT 51 51112.0 [39.0
9\ %+ KT 42 42| 6.0 136.0 59 |8y O il 45 45/ 6.0 139.0
10fEfE S 42 42| 6.0 |36.0 60| A BE— 44 44| 4.8 |39.2
11]7)1] =58 41 41| 4.8 |36.2 61 1R L5 44 44| 4.8 |39.2
12| RIg SR 47 47/10.8 |36.2 62| L FEME 44 44| 4.8 [39.2
13| $A H- 47 47 10.8 |36.2 63 AR EIR 50 50| 10.8 |39.2
14$5K B 40 40| 3.6 |36.4 64 /MK BT 49 49| 9.6 |39.4
15| [KFE FiE 40 40| 3.6 |36.4 65 B SR 55 55| 15.6 | 39.4
16|F5E &2 40 40| 3.6 |36.4 66| 1l FERT 49 49| 9.6 |39.4
17061 e 46 46| 9.6 |36.4 67| KiE 15— 49 49/ 9.6 |39.4
18|k 4 46 46| 9.6 |36.4 68| AT Bk 42 42| 2.4 139.6
19|k 21T 45 45| 8.4 |36.6 69| H A ELR 48 48| 8.4 139.6
20 | ARIE LT 45 45| 8.4 |36.6 707 H St 42 42| 2.4 139.6
21465 FukE 45 45| 8.4 |36.6 VRN 54 54| 14.4 | 39.6
22| LH 1EBA 44 44| 7.2 |36.8 T2 fABE FERG 41 41] 1.2 |39.8
23 | Ak — K% 43 43] 6.0 |37.0 738K ARG 46 46| 6.0 |40.0
24|/ s A 43 43| 6.0 |37.0 T4 B HESE 45 45| 4.8 140.2
25 |1EpkE $HYRER 49 49/ 12.0 |37.0 75| H FEE 51 51| 10.8 |40.2
26 /g & 42 42| 4.8 |37.2 76| A 50 50/ 9.6 |40.4
27K ER 42 42| 4.8 |37.2 T #Hf— 49 49| 8.4 140.6
28 |7V R 42 42| 4.8 |37.2 78| B 55 55| 14.4 | 40.6
29| &R ik 41 41| 3.6 |37.4 791 B H ]IS 46 46| 4.8 |41.2
30//hEE BEIR 41 41| 3.6 |37.4 S0BRE %+ 58 58| 16.8 | 41.2
31IETE —HB 41 41| 3.6 |37.4 81| 5LE 44 44] 2.4 [41.6
32\/NEE Fn SR 47 47| 9.6 |37.4 82| # i HioT 48 48| 6.0 |42.0
33|86 A 47 47/ 9.6 |37.4 83|58 /E M 47 47 4.8 |42.2
34 |55 Bk— 52 52/ 14.4 | 37.6 84 O #BK 47 47| 4.8 [42.2
3Bb|HHE ER 45 45| 7.2 |37.8 85| JE — 45 45| 2.4 142.6
36 1%H kA 45 45| 7.2 |37.8 86 | LIk 17 57 57/12.0 [ 45.0
37| W 45 45| 7.2 137.8 AR A NR
38| EE JEH 44 44] 6.0 |38.0
39|/ 5F 44 44| 6.0 |38.0
40 | #2100 ROk 44 44| 6.0 |38.0
41 | 5B I 44 44| 6.0 |38.0
42 1B H 43 43| 4.8 |38.2
43| 7B % 43 43| 4.8 |38.2
44 | FF 2 43 43| 4.8 |38.2
45 Wi Bh 49 49/ 10.8 |38.2
46 &5 1B 48 48] 9.6 [38.4
47| 10s HEPUAS 48 48| 9.6 |38.4
48| H #fh 47 47| 8.4 |38.6
4911w EH 41 41 2.4 [38.6
50 H il f§ 47 47| 8.4 |38.6

1/ 1 HLENRRAETIL B



